1	Paul A. Levin (State Bar No. 229077)	
2	plevin@themrlg.com MORTGAGE RECOVERY LAW GRO	MID I I D
3	700 North Brand Boulevard, Suite 830	OI EEI
3	Glendale, California 91203	
4	Telephone: (818) 630-7900 / Fax: (818)	630-7920
5	F. M. 1 ( 1 2) 1 1 1	
6	Etan Mark (admitted <i>pro hac</i> ) etan@markmigdal.com	
	Donald J. Hayden (admitted <i>pro hac</i> )	
7	don@markmigdal.com	
8	MARK MIGDAL & HAYDEN	
9	80 SW 8 <sup>th</sup> Street, Suite 1999	
10	Miami, Florida 33130	
	Telephone: (305) 374-0440	
11	HNITED STATE	S DISTRICT COURT
12		
13	CENTRAL DISTRICT OF CA	LIFORNIA, WESTERN DIVISION
14		
15	MICHAEL LAVIGNE, et al.,	CASE NO. 2:18-cv-07480-JAK (MRWx)
16	Plaintiffs,	[Related Case 2:13-cv-02488-BRO-RZ]
17	vs.	DECLARATION OF ETAN MARK
	HERBALIFE LTD., et al.,	IN SUPPORT OF PLANTIFFS' MOTION FOR FINAL APPROVAL
18	Defendants.	
19	Defendants.	Assigned to Hon. John A. Kronstadt,
20		Courtroom 10B
21		-
22		
23		
24		
25		
26		
27		
28		

ETAN MARK DECLARATION IN SUPPORT OF PLAINTIFFS' MOTION FOR FINAL APPROVAL

- 1. I have personal knowledge of the facts set forth in this declaration and, if called as a witness, I could and would testify competently about these facts.
- 2. I am a member of the State Bars of New York and Florida and am admitted *pro hac vice* to practice before the Court. I am counsel for Plaintiffs in this matter.
- 3. I am the co-founder of Mark Migdal & Hayden ("MMH"), and I oversee MMH's litigation efforts in this case.
- 4. In the above-referenced action, Plaintiffs had seven separate discovery hearings before Magistrate Judge Michael R. Wilner, took thirteen separate full-day fact depositions, an additional four expert depositions, and defended an additional eight depositions, along with reviewing hundreds of thousands of pages of discovery.
- 5. Plaintiffs separately engaged in extensive discovery in the case styled Lavigne, et al. v. Herbalife Ltd., Case No. 1:17-23429-MGC (S.D. Fla.) (the "Florida Action"), including taking eight party depositions, defending three depositions, reviewing hundreds of thousands of additional pages of documents produced in the Florida Action by parties and non-parties, and participating in seven separate discovery hearings before Magistrate Judge Goodman in the Southern District of Florida.
- 6. In this action alone, the parties fully briefed a motion to compel arbitration, two separate motions to dismiss, eight *Daubert* motions cross-motions for summary judgment, and a contested motion for class action certification.
- 7. Based on data provided by Herbalife and representations made to me by Herbalife's counsel, Herbalife estimates 80-90% of distributors who attended two or more STS events would eventually attend a corporate event.
- 8. I believe the Settlement is fair, adequate, and reasonable and should, therefore, be approved.

### Case 2:18-cv-07480-JAK-MRW Document 401-1 Filed 09/08/23 Page 3 of 21 Page ID #:13241

	A and B are a modified spreadsheet reflecting							
time worked by Class Counsel in thi	time and costs. Attached as Exhibits A and B are a modified spreadsheet reflecting							
	is matter, modified to reflect the downward							
modification proposed by the Court in	its Preliminary Approval Order.							
I declare under penalty of perj	ury under the laws of the United States of							
America that the foregoing is true and correct. Executed on September 8, 2023, at								
Miami, Florida.								
	/s/ Etan Mark							
	Etan Mark							

28

## EXHIBIT A

	Table 1		
	Task 1: Pre-Suit Inve	stigation	
Attorney Jason Jones	<b>Rate</b> \$450	Hours 150	Fee \$67,500.00
(Attorney)	Ş+30		
Total Fee Request for Task 1	Task 2: Drafting Origin	150 al Complaint	\$67,500.00
Attorney	Rate	Hours	Fee
Lara Grillo (Partner)	\$450	40	\$18,000.00
Donald J. Hayden	\$650	4	\$2,600.00
(Partner) Etan Mark	\$550	50	\$27,500.00
(Partner)			******
Joshua A. Migdal (Partner)	\$525	4.1	\$2,152.50
Jason Jones	\$450	50	\$22,500.00
(Attorney) Michelle Pelaez	\$175	18.2	\$3,185.00
(Senior Paralegal) Total Fee Request for Task 2		166.3	\$75,937.50
	k 3: Motion to Stay Discove		\$75,537.50
Attorney Lara Grillo	Rate \$450	Hours 14.4	Fee \$6,480.00
(Partner)	3430	14.4	30,480.00
Donald J. Hayden (Partner)	\$650	1.4	\$910.00
Etan Mark	\$550	4.2	\$2,310.00
(Partner) Joshua A. Migdal	\$525	0	\$0.00
(Partner)	دعدد		
Total Fee Request for Task 3	Task 4: Motion to Dismiss (	Refore Transfer)	\$9,700.00
Attorney	Rate	Hours	Fee
Lara Grillo (Partner)	\$450	12	\$5,400.00
Donald J. Hayden	\$650	0	\$0.00
(Partner) Etan Mark	\$550	19	\$10,450.00
(Partner)			
Joshua A. Migdal (Partner)	\$525	9.5	\$4,987.50
Jason Jones	\$450	45	\$20,250.00
(Attorney) Total Fee Request for Task 4		85.5	\$41,087.50
Task 5:	Motions to Compel Arbitra	tion and Transfer Ven	ue
Attorney George Breur	<b>Rate</b> \$400	Hours 0	Fee \$0.00
(Partner)			
Lara Grillo (Partner)	\$450	120	\$54,000.00
Donald J. Hayden	\$650	50	\$32,500.00
(Partner) Etan Mark	\$550	115	\$63,250.00
(Partner)			
Joshua A. Migdal (Partner)	\$525	70	\$36,750.00
Jason Jones	\$450	60	\$27,000.00
(Attorney) Michelle Pelaez	\$175	22.8	\$3,990.00
(Senior Paralegal)			
Total Fee Request for Task 5	Task 6: Jurisdictional	437.8 Discovery	\$217,490.00
Attorney	Rate	Hours	Fee
George Breur (Partner)	\$400	0	\$0.00
Lara Grillo	\$450	10.6	\$4,770.00
Donald J. Hayden	\$650	9.1	\$5,915.00
(Partner)	árra.	40.5	£22.275.00
Etan Mark (Partner)	\$550	40.5	\$22,275.00
Joshua A. Migdal (Partner)	\$525	11.5	\$6,037.50
Jason Jones	\$450	70	\$31,500.00
(Attorney) Total Fee Request for Task 6		141.7	\$70,497.50
Task 7: Inv	estigation and Research (P	ost-Filing, Before Tran	isfer)
Attorney Jason Jones	Rate \$450	Hours 90	Fee \$40,500.00
(Attorney)	ŷ-130		
Total Fee Request for Task 7	Hannania Casa and Deninat B	90 Agnagement (Refore 1	\$40,500.00
. 050 0. 17/13001			
Attorney	llaneous Case and Project N Rate	Hours	Fee
Lara Grillo			
Lara Grillo (Partner) Donald J. Hayden	Rate	Hours	Fee
Lara Grillo (Partner) Donald J. Hayden (Partner)	\$450 \$650	Hours 8	\$3,600.00 \$9,750.00
Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner)	\$450 \$650 \$550	Hours 8 15 25	\$3,600.00 \$9,750.00 \$13,750.00
Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark	\$450 \$650	<b>Hours</b> 8 15	\$3,600.00 \$9,750.00
Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones	\$450 \$650 \$550	Hours 8 15 25	\$3,600.00 \$9,750.00 \$13,750.00
Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner)	\$450 \$650 \$550 \$525	Hours 8 15 25 6.1	Fee \$3,600.00 \$9,750.00 \$13,750.00 \$3,202.50
Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Michelle Pelaez (Senior Paralegal)	\$450 \$650 \$550 \$525 \$450	Hours 8 15 25 6.1 70 12.6	\$3,600.00 \$9,750.00 \$13,750.00 \$3,202.50 \$31,500.00 \$2,205.00
Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Michelle Pelaez (Senior Paralegal) Total Fee Request for Task 8	\$450 \$650 \$550 \$525 \$450 \$175	Hours 8 15 25 6.1 70 12.6	Fee \$3,600.00 \$9,750.00 \$13,750.00 \$13,750.00 \$33,202.50 \$31,500.00 \$2,205.00 \$64,007.50
Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Michelle Pelaez (Senior Paralegal) Total Fee Request for Task 8 Task 9: Case A	Rate   \$450   \$650   \$550   \$555   \$450   \$175   \$ssessment and Strategizat.   Rate   Rate   \$450   \$650	Hours  8  15  25  6.1  70  12.6  136.7  on After Transfer to C  Hours	Fee \$3,600.00 \$9,750.00 \$13,750.00 \$13,750.00 \$33,202.50 \$31,500.00 \$2,205.00 \$64,007.50 alifornia
Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Michelle Pelaez (Senior Paralegal) Total Fee Request for Task 8	Rate   \$450   \$650   \$550   \$525   \$450   \$175   \$ssessment and Strategizat.	Hours  8  15  25  6.1  70  12.6  136.7  on After Transfer to C	Fee   \$3,600.00   \$9,750.00   \$13,750.00   \$13,750.00   \$3,202.50   \$31,500.00   \$2,205.00   \$64,007.50   alifornia   Fee   \$11,250.00
Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Michelle Pelaez (Senior Paralegal) Total Fee Request for Task 8 Attorney Lara Grillo (Partner) Donald J. Hayden	Rate   \$450   \$650   \$550   \$555   \$450   \$175   \$ssessment and Strategizat.   Rate   Rate   \$450   \$650	Hours  8  15  25  6.1  70  12.6  136.7  on After Transfer to C  Hours	Fee \$3,600.00 \$9,750.00 \$13,750.00 \$13,750.00 \$33,202.50 \$31,500.00 \$2,205.00 \$64,007.50 alifornia
Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Michelle Pelaez (Senior Paralegal) Total Fee Request for Task 8 Tosk 9: Cose A Attorney Lara Grillo (Partner)	Rate   \$450   \$650   \$550   \$555   \$450   \$175   \$3555   \$450	Hours  8  15  25  6.1  70  12.6  136.7  on After Transfer to C  Hours  25	Fee   \$3,600.00   \$9,750.00   \$13,750.00   \$13,750.00   \$3,202.50   \$31,500.00   \$2,205.00   \$64,007.50   alifornia   Fee   \$11,250.00

(Partner)	
	10,500.00
lason lones S450 20 9	
(Attorney)	\$9,000.00
	\$665.00
(Senior Paralegal)	
Total Fee Request for Task 9 82.2 \$  Task 10: Fact Depositions	39,355.00
Attorney Rate Hours	Fee
	39,480.00
(Partner)  Etan Mark \$550 103.1 \$	56,705.00
(Partner)	,
	\$5,827.50
(Partner)  Jason Jones \$450 350 \$:	157,500.00
(Attorney)	
Jennifer Jones \$600 200 \$: (Attorney)	120,000.00
	\$1,560.00
(Attorney)	
Michelle Pelaez \$175 9.1 S (Senior Paralegal)	\$1,592.50
	\$1,627.50
(Paralegal)	
Victoria Pantin \$175 38.3 \$ (Paralegal)	\$6,702.50
	390,995.00
Task 11: Contested Discovery (Hearings, Meet and Confers, Briefing, etc.)	
Attorney         Rate         Hours           Yaniv Adar         \$525         250         \$:	Fee 131,250.00
(Partner)	
Donald J. Hayden \$650 0	\$0.00
(Partner)         \$550         70         \$	38,500.00
(Partner)	
Joshua A. Migdal \$525 8.3 \$ (Partner)	\$4,357.50
	\$9,000.00
(Attorney)	
Jennifer Jones \$600 25 \$ (Attorney)	15,000.00
	\$5,817.50
(Associate)  Paul Levin \$300 21.1	¢¢ 220.00
Paul Levin \$300 21.1 5 (Attorney)	\$6,330.00
Lauren Gibbs \$300 0	\$0.00
(Attorney)  Mary Melbar \$185 13	\$2,405.00
(Senior Paralegal)	32,403.00
	\$1,785.00
(Paralegal)	
victoria rantin   51/5   0	\$0.00
Victoria Pantin \$175 0 (Paralegal)	\$0.00
(Paralegal)           Total Fee Request for Task 11         435.5         \$2	\$0.00 <b>214,445.00</b>
(Paralegal)	
(Paralegal)         435.5         \$2           Task 12: Written Discovery           Attorney         Rate         Hours           Yaniv Adar         \$525         55         \$	214,445.00
Paralegal	214,445.00 Fee 528,875.00
Paralegal	Fee 528,875.00 511,000.00
Paralegal	214,445.00 Fee 528,875.00
Paralegal	Fee 528,875.00 511,000.00
Paralegal	Fee :228,875.00 ::11,000.00 ::990,000.00 :52,304.00
Paralegal	Fee 528,875.00 511,000.00 690,000.00
Paralegal	Fee :228,875.00 ::11,000.00 ::990,000.00 :52,304.00
Paralegal	Pee 528,875.00 511,000.00 590,000.00 52,304.00 52,940.00 5660.00
Paralegal	Fee 228,875.00 511,000.00 990,000.00 52,304.00 52,940.00
Paralegal	Pee 528,875.00 511,000.00 590,000.00 52,304.00 52,940.00 5660.00
Paralegal	214,445.00  Fee i28,875.00 i11,000.00 i90,000.00 \$2,304.00 \$2,940.00 \$660.00 \$1,225.00 137,004.00
Paralegal	214,445.00  Fee 228,875.00 311,000.00 390,000.00 \$2,304.00 \$52,940.00 \$660.00 \$1,225.00  137,004.00
Paralegal	214,445.00  Fee i28,875.00 i11,000.00 i90,000.00 \$2,304.00 \$2,940.00 \$660.00 \$1,225.00  Fee \$7,245.00
Paralegal	214,445.00  Fee 228,875.00 311,000.00 390,000.00 \$2,304.00 \$52,940.00 \$660.00 \$1,225.00  137,004.00
Paralegal	214,445.00  Fee i28,875.00 i11,000.00 i90,000.00 i52,304.00 i52,940.00 i51,225.00 i137,004.00 Fee s7,245.00
Paralegal	214,445.00  Fee 228,875.00 511,000.00 5190,000.00 \$2,304.00 \$52,940.00 \$54,245.00  Fee \$7,245.00 \$1,995.00 270,000.00
Paralegal   A	214,445.00  Fee (28,875.00 (311,000.00 (390,000.00 (52,304.00 (52,940.00 (51,225.00 (137,004.00 (52,245.00 (51,995.00 (51,995.00
Paralegal	214,445.00  Fee 228,875.00 511,000.00 5190,000.00 \$2,304.00 \$52,940.00 \$54,245.00  Fee \$7,245.00 \$1,995.00 270,000.00
Paralegal	Pee 228,875.00 511,000.00 52,304.00 52,304.00 52,304.00 52,704.00 Fee 57,245.00 51,995
Paralegal	214,445.00  Fee (28,875.00 611,000.00 611,000.00 62,304.00 652,304.00 652,940.00 657,245.00 657,245.00 657,245.00 657,245.00 657,245.00 657,000.00 657,000 6570.00 6570.00 6570.00
Paralegal	214,445.00  Fee 228,875.00 311,000.00 390,000.00 \$2,304.00 \$52,940.00 \$52,940.00 \$1,225.00  137,004.00  Fee \$7,245.00 \$1,995.00 270,000.00 \$0.00
Paralegal	214,445.00  Fee 228,875.00 511,000.00 990,000.00 \$2,304.00 \$52,304.00 \$52,940.00 \$1,225.00 137,004.00 Fee \$7,245.00 \$1,995.00 270,000.00 \$0.00 \$70.00
Paralegal	214,445.00  Fee 228,875.00 511,000.00 5190,000.00 \$2,304.00 \$2,304.00 \$52,940.00 \$51,225.00 137,004.00  Fee \$7,245.00 \$1,995.00 270,000.00 \$0.00 \$70.00 \$70.00
Paralegal	214,445.00  Fee 228,875.00 511,000.00 590,000.00 \$2,304.00 \$52,940.00 \$52,940.00 \$12,25.00  137,004.00  Fee \$7,245.00 \$70,000.00 \$70.00 \$70.00 \$26,212.00 \$70.00 \$70.00 \$70.00
Paralegal	214,445.00  Fee 228,875.00  311,000.00  590,000.00  \$2,304.00  \$2,304.00  \$4,225.00  \$1,225.00  \$1,7245.00  \$1,995.00  \$2,70,000.00  \$0.00  \$5,000  \$5,000  \$5,000  \$5,000  \$5,000  \$5,000  \$5,000  \$6
Paralegal   Attorney   Rate   Hours   Sano   Paralegal   Paralegal   Attorney   Rate   Hours   Paralegal   Paral	214,445.00  Fee 228,875.00 511,000.00 590,000.00 \$2,304.00 \$52,940.00 \$52,940.00 \$12,25.00  137,004.00  Fee \$7,245.00 \$70,000.00 \$70.00 \$70.00 \$26,212.00 \$70.00 \$70.00 \$70.00
Paralegal	214,445.00  Fee 228,875.00 311,000.00 390,000.00 \$2,304.00 \$5,245.00 \$137,004.00  Fee \$7,245.00 \$1,995.00 \$270,000.00 \$70.00 \$70.00 \$270.00 \$1,205.00 \$270.00 \$326,212.00 \$326,212.00 \$326,212.00 \$326,212.00 \$326,212.00 \$326,212.00 \$326,212.00
Paralegal	214,445.00  Fee 228,875.00 511,000.00 5190,000.00 52,304.00 52,940.00 53,225.00 137,004.00  Fee 57,245.00 51,995.00 270,000.00 50.00 570.00 586,212.00 Fee 51,627.50 512,015.00
Paralegal	214,445.00  Fee 228,875.00 311,000.00 390,000.00 \$2,304.00 \$5,245.00 \$137,004.00  Fee \$7,245.00 \$1,995.00 \$270,000.00 \$70.00 \$70.00 \$270.00 \$1,205.00 \$270.00 \$326,212.00 \$326,212.00 \$326,212.00 \$326,212.00 \$326,212.00 \$326,212.00 \$326,212.00
Paralegal	214,445.00  Fee 228,875.00 311,000.00 390,000.00 \$2,304.00 \$2,304.00 \$5,304.00 \$5,304.00 \$1,225.00 \$1,225.00 \$1,225.00 \$2,70,000.00 \$1,000.00 \$2,000.00 \$2,000.00 \$3,000.00 \$3,000.00 \$4,000.00 \$4,000.00 \$4,000.00 \$5,000 \$1,000.00 \$1,000.00 \$2,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00
Paralegal	214,445.00  Fee 228,875.00 511,000.00 5190,000.00 52,304.00 52,940.00 531,225.00 137,004.00  Fee 57,245.00 51,995.00 270,000.00 50.00 570.00 326,212.00 512,015.00 514,625.00 530,250.00 50.00 533,300.00
Paralegal   Attorney   Rate   Hours	214,445.00  Fee 228,875.00 311,000.00 390,000.00 \$2,304.00 \$2,304.00 \$5,2940.00 \$5,2940.00 \$1,225.00  137,004.00  Fee \$7,245.00 \$1,995.00 270,000.00 \$70.00 \$326,212.00  Fee \$1,627.50 \$144,625.00 \$30,250.00 \$0.00
Paralegal	214,445.00  Fee 228,875.00 511,000.00 5190,000.00 52,304.00 52,940.00 531,225.00 137,004.00  Fee 57,245.00 51,995.00 270,000.00 50.00 570.00 326,212.00 512,015.00 514,625.00 530,250.00 50.00 533,300.00
Paralegal   Attorney   Rate   Hours	214,445.00  Fee 228,875.00 311,000.00 390,000.00 \$2,304.00 \$52,940.00 \$52,940.00 \$52,940.00 \$51,225.00  137,004.00  Fee \$7,245.00 \$7,000.00 \$70.00

Mary Melbar	\$185	5	\$925.00
(Senior Paralegal)			
Michelle Pelaez	\$175	11	\$1,925.00
(Senior Paralegal) Viviana Vazquez	\$175	3	\$525.00
(Paralegal)	, ,	-	
Total Fee Request for Task 14		234.3	\$112,892.50
Attorney	Task 15: Motion for Clas. Rate	Hours Hours	Fee
Yaniv Adar	\$525	80	\$42,000.00
(Partner)			
Donald J. Hayden	\$650	6	\$3,900.00
(Partner) Etan Mark	\$550	60	\$33,000.00
(Partner)	7.55		****
Joshua A. Migdal	\$525	30	\$15,750.00
(Partner) Jason Jones	\$450	80	\$36,000.00
(Attorney)	Ş+30	50	\$30,000.00
Jennifer Jones	\$600	0	\$0.00
(Attorney)	4444		4
Paul Levin (Attorney)	\$300	4.6	\$1,380.00
Mary Melbar	\$185	6	\$1,110.00
(Senior Paralegal)	4.00		4
Michelle Pelaez (Senior Paralegal)	\$175	6.9	\$1,207.50
Viviana Vazquez	\$175	28.6	\$5,005.00
(Paralegal)			
Victoria Pantin (Paralegal)	\$175	5.5	\$962.50
(Paralegal)  Total Fee Request for Task 15	l	307.6	\$140,315.00
Task	: 16: Draft First Amended Co	omplaint in California	
Attorney	Rate	Hours	Fee
Yaniv Adar (Partner)	\$525	5.5	\$2,887.50
Etan Mark	\$550	9.2	\$5,060.00
(Partner)			
Jason Jones (Attorney)	\$450	35	\$15,750.00
(Attorney) Jennifer Jones	\$600	3.43	\$2,058.00
(Attorney)			
Michelle Pelaez	\$175	1.6	\$280.00
(Senior Paralegal) Total Fee Request for Task 16		54.73	\$26,035.50
	ask 17: Second Motion to D		Ų20,000.00
Attorney	Rate	Hours	Fee
Yaniv Adar	\$525	25.8	\$13,545.00
(Partner) Donald J. Hayden	\$650	0	\$0.00
(Partner)	,		,
Etan Mark	\$550	36.2	\$19,910.00
(Partner) Joshua A. Migdal	\$525	0	\$0.00
(Partner)	Ų323	Ü	\$0.00
Jason Jones	\$450	40	\$18,000.00
(Attorney) Niki Namazi	\$325	0	\$0.00
(Associate)	Ş323	Ü	Ş0.00
Mary Melbar	\$185	2	\$370.00
(Senior Paralegal) Victoria Pantin	\$175	0.8	\$140.00
(Paralegal)	3173	0.8	3140.00
Total Fee Request for Task 17			
		104.8	\$51,965.00
	isk 18: Settlement Conferen	ces and Mediation	
Attorney	Rate	ces and Mediation Hours	Fee
		ces and Mediation	
Attorney Yaniv Adar (Partner) Donald J. Hayden	Rate	ces and Mediation Hours	Fee
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner)	\$525 \$650	Hours 34.2	Fee \$17,955.00 \$0.00
Attorney Yaniv Adar (Partner) Donald J. Hayden	<b>Rate</b> \$525	Hours 34.2	Fee \$17,955.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal	\$525 \$650	Hours 34.2	Fee \$17,955.00 \$0.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner)	\$525 \$650 \$550 \$550	designation Hours 34.2 0 98.8 112.2	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal	\$525 \$650 \$550	es and Mediation Hours 34.2 0 98.8	Fee \$17,955.00 \$0.00 \$54,340.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin	\$525 \$650 \$550 \$550	designation Hours 34.2 0 98.8 112.2	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney)	\$525 \$650 \$550 \$550 \$555 \$450	ees and Mediation  Hours  34.2  0  98.8  112.2  25  0	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$0.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez	Rate	ces and Mediation  Hours  34.2  0  98.8  112.2  25	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Johua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18	Rate	ces and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$0.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Ishua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18	Rate	ces and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$0.00 \$1,347.50 \$143,797.50
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18 Attorney	Rate	ees and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management  Hours	Fee \$17,955.00 \$0.00 \$54,340.00 \$554,340.00 \$511,250.00 \$0.00 \$13,347.50 \$143,797.50
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Ishua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18	Rate	ces and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$0.00 \$11,347.50 \$143,797.50 Fee \$52,500.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Iones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18 Task Attorney Vaniv Adar (Partner) Donald J. Hayden	Rate	ees and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management  Hours	Fee \$17,955.00 \$0.00 \$54,340.00 \$554,340.00 \$511,250.00 \$11,250.00 \$1,347.50 \$143,797.50
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Isan A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request For Task 18 Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner)	Rate	ces and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management  Hours  100  0	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$0.00 \$1,347.50 \$143,797.50 Fee \$52,500.00 \$0.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Iones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18 Task Attorney Vaniv Adar (Partner) Donald J. Hayden	Rate	ces and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management  Hours  100	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$11,347.50 \$143,797.50 Fee \$52,500.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Ishua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18 Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal	Rate	ces and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management  Hours  100  0	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$0.00 \$1,347.50 \$143,797.50 Fee \$52,500.00 \$0.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18 Tosk. Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal	Rate   S525   S650   S550   S450   S300   S175   S175   S650   S525   S650   S550   S550   S550   S550   S550   S555   S650   S5550   S525   S650   S625	ees and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management  Hours  100  0  100  50.6	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$11,250.00 \$1,347.50 \$143,797.50 Fee \$52,500.00 \$0.00 \$55,000.00 \$26,565.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Johua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18 Tosk Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Jason Jones	Rate   S525   S650   S550   S525   S450   S300   S175	ees and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management  Hours  100  0	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$11,347.50 \$143,797.50 Fee \$52,500.00 \$55,000.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18 Tosk. Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney)	Rate   S525   S650   S550   S450   S300   S175   S175   S650   S525   S650   S550   S550   S550   S550   S550   S555   S650   S5550   S525   S650   S625	ees and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management  Hours  100  0  100  50.6	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$11,250.00 \$1,347.50 \$143,797.50 Fee \$52,500.00 \$0.00 \$55,000.00 \$26,565.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18 Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Jennifer Jones (Attorney)	Rate   S525   S650   S550   S450   S755   S450   S525   S450   S525   S450   S525   S450   S525   S450   S600	ces and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management Hours 100  0  100  50.6  190  29.48	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$11,347.50 \$143,797.50 Fee \$52,500.00 \$555,000.00 \$26,565.00 \$85,500.00 \$17,688.00 \$17,688.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18 Attorney Vaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Jennifer Jones (Attorney) Paul Levin	Rate   S525   S650   S550   S450   S175   S450   S650   S555   S450   S555   S650   S555   S650   S550   S555   S450	ces and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management  Hours  100  0  100  50.6	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$11,347.50 \$143,797.50 Fee \$52,500.00 \$55,000.00 \$26,565.00 \$85,500.00 \$85,500.00 \$85,500.00 \$85,500.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18 Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Jennifer Jones (Attorney)	Rate   S525   S650   S550   S450   S755   S450   S525   S450   S525   S450   S525   S450   S525   S450   S600	ces and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management Hours 100  0  100  50.6  190  29.48	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$11,347.50 \$143,797.50 Fee \$52,500.00 \$555,000.00 \$26,565.00 \$85,500.00 \$17,688.00 \$17,688.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18 Tosk Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Jennifer Jones (Attorney) Paul Levin (Attorney) Lauren Gibbs (Attorney)	Rate	ces and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management  Hours  100  0  100  50.6  190  29.48  40.1  9.3	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$0.00 \$11,347.50 \$143,797.50 Fee \$52,500.00 \$26,565.00 \$85,000.00 \$17,688.00 \$12,030.00 \$22,790.00 \$12,030.00 \$
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Johua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18 Tosk Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Jennifer Jones (Attorney) Paul Levin (Attorney) Lauren Gibbs (Attorney) Lauren Gibbs (Attorney)	Rate   S525   S650   S550   S525   S450   S650   S525   S650   S525   S650   S525   S650   S525   S650   S525   S650   S600	ces and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management Hours 100  0  100  50.6  190  29.48  40.1	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$11,250.00 \$13,347.50 \$143,797.50 Fee \$52,500.00 \$0.00 \$26,565.00 \$25,505.00 \$17,668.00 \$12,030.00 \$12,030.00
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18 Tosk Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Jennifer Jones (Attorney) Paul Levin (Attorney) Lauren Gibbs (Attorney)	Rate	ces and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management  Hours  100  0  100  50.6  190  29.48  40.1  9.3	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$0.00 \$11,347.50 \$143,797.50 Fee \$52,500.00 \$26,565.00 \$85,000.00 \$17,688.00 \$12,030.00 \$22,790.00 \$12,030.00 \$
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18 Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Jennifer Jones (Attorney) Jennifer Jones (Attorney) Lauren Gibbs (Attorney) Lauren Gibbs (Attorney) Niki Namazi (Associate) Mary Melbar	Rate   S525   S650   S550   S450   S185   S185   S185   S185   S185   S185   S185   S185   S650   S300   S300   S300   S300   S325   S185   S185   S650   S325   S4850   S	ces and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management Hours 100  0  100  50.6  190  29.48  40.1  9.3  11.7	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$0.00 \$11,250.00 \$0.00 \$13,47.50 \$143,797.50 \$143,797.50 \$0.00 \$555,000.00 \$26,565.00 \$0.00 \$27,688.00 \$12,030.00 \$27,90.00 \$33,802.50 \$27,793.50
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18 Task Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Jennifer Jones (Attorney) Paul Levin (Attorney) Lauren Gibbs (Attorney) Niki Namazzi (Associate) Mary Melbar (Senior Paralegal) Michelle Pelaez	Rate   S525   S650   S550   S525   S450   S300   S325   S450   S525   S650   S550   S525   S650   S550   S525   S450   S600   S300   S300   S300   S325	ces and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management Hours 100  0  100  50.6  190  29.48  40.1  9.3  11.7	Fee \$17,955.00 \$0.00 \$54,340.00 \$554,340.00 \$554,340.00 \$51,347.50 \$11,250.00 \$0.00 \$13,347.50 \$143,797.50 Fee \$52,500.00 \$26,565.00 \$85,500.00 \$217,688.00 \$12,030.00 \$22,790.00 \$33,802.50
Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Viviana Vazquez (Paralegal) Total Fee Request for Task 18 Attorney Yaniv Adar (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Jennifer Jones (Attorney) Jennifer Jones (Attorney) Lauren Gibbs (Attorney) Lauren Gibbs (Attorney) Niki Namazi (Associate) Mary Melbar	Rate   S525   S650   S550   S450   S185   S185   S185   S185   S185   S185   S185   S185   S650   S300   S300   S300   S300   S325   S185   S185   S650   S325   S4850   S	ces and Mediation  Hours  34.2  0  98.8  112.2  25  0  7.7  277.9  Project Management Hours 100  0  100  50.6  190  29.48  40.1  9.3  11.7	Fee \$17,955.00 \$0.00 \$54,340.00 \$58,905.00 \$11,250.00 \$11,250.00 \$11,347.50 \$143,797.50 \$143,797.50 \$52,500.00 \$555,000.00 \$26,565.00 \$17,688.00 \$12,030.00 \$2,790.00 \$33,802.50 \$2,793.50

Victoria Pantin	\$175	52.3	\$9,152.50
(Paralegal)	3173		
Total Fee Request for Task 19	ask 20: Expert Written Disc	698.68	\$285,339.00
Attorney	Rate	Hours	Fee
Yaniv Adar (Partner)	\$525	35	\$18,375.00
Etan Mark	\$550	60	\$33,000.00
(Partner) Joshua A. Migdal	\$525	13.6	\$7,140.00
(Partner) Jason Jones	\$450	100	\$45,000.00
(Attorney) Paul Levin	\$300	0	\$0.00
(Attorney) Niki Namazi	\$325	17.7	\$5,752.50
(Associate)			
Mary Melbar (Senior Paralegal)	\$185	2	\$370.00
Viviana Vazquez (Paralegal)	\$175	5.7	\$997.50
Total Fee Request for Task 20		234	\$110,635.00
Attorney	Task 21: Expert Dep	oositions Hours	Fee
Yaniv Adar	\$525	20	\$10,500.00
(Partner) Etan Mark	\$550	9.3	\$5,115.00
(Partner)			
Joshua A. Migdal (Partner)	\$525	4.4	\$2,310.00
Jason Jones (Attorney)	\$450	80	\$36,000.00
Niki Namazi	\$325	12.3	\$3,997.50
(Associate) Viviana Vazquez	\$175	4.6	\$805.00
(Paralegal) Total Fee Request for Task 21		130.6	\$58,727.50
Total Fee Request for Task 21	Task 22: Motions i		\$30,7£7.30
Attorney Yaniv Adar	Rate \$525	Hours 75	Fee \$39,375.00
(Partner) Etan Mark	\$550	15.4	\$8,470.00
(Partner)			
Joshua A. Migdal (Partner)	\$525	20	\$10,500.00
Jason Jones (Attorney)	\$450	33	\$14,850.00
Paul Levin	\$300	0	\$0.00
(Attorney) Niki Namazi	\$325	30	\$9,750.00
(Associate) Viviana Vazquez	\$175	3.4	\$595.00
(Dareless)			
(Paralegal)		476.0	602 540 00
(Paralegal) Total Fee Request for Task 22	Task 23: Motion for Sumr	176.8 mary Judgment	\$83,540.00
Total Fee Request for Task 22  Attorney	Task 23: Motion for Sumr	nary Judgment Hours	Fee
Total Fee Request for Task 22  Attorney  Yaniv Adar		nary Judgment	I
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark	Rate	nary Judgment Hours	Fee
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal	<b>Rate</b> \$525	mary Judgment Hours 25	Fee \$13,125.00
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones	\$525 \$550	Hours 25	Fee \$13,125.00 \$38,500.00
Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner)	\$525 \$550 \$525	Hours 25 70	\$13,125.00 \$38,500.00 \$11,550.00
Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney)	\$525 \$550 \$550 \$555 \$450 \$300	### ##################################	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate)	Rate	### ##################################	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$0.00
Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal)	\$525 \$550 \$550 \$555 \$450 \$300	### ##################################	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$0.00 \$5,460.00 \$437.50
Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23	\$525 \$550 \$550 \$555 \$450 \$300 \$325 \$175	### ##################################	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$0.00
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23  Attorney	Rate	### ##################################	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$5.460.00 \$437.50 \$114,072.50
Attorney  Attorney  Yaniv Adar (Partner)  Etan Mark (Partner)  Joshua A. Migdal (Partner)  Jason Jones (Attorney)  Paul Levin (Attorney)  Niki Namazi (Associate)  Viviana Vazquez (Paralegai)  Total Fee Request for Task 23  Attorney  Yaniv Adar	Rate	### ##################################	Fee \$13,125.00 \$38,500.00 \$31,550.00 \$45,000.00 \$437.50 \$514,072.50
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23  Attorney Yaniv Adar (Partner) Joshua A. Migdal	Rate	### ##################################	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$5.460.00 \$437.50 \$114,072.50
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23  Attorney Yaniv Adar (Partner)	Rate	### ##################################	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$0.00 \$5,460.00 \$437.50 \$114,072.50 Fee \$4,987.50
Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23 Ti Attorney Yaniv Adar (Partner) Joshua A. Migdal (Partner) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23 Ti	Rate	Hours   25   70   22   100   0   16.8   2.5   236.3	Fee \$13,125.00 \$38,500.00 \$31,550.00 \$41,550.00 \$45,000.00 \$5,460.00 \$437.50 \$114,072.50 Fee \$4,987.50 \$1,102.50
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23  Attorney Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Niki Namazi (Associate) Viviana Vazquez (Partner) Viviana Vazquez (Paralegal) Viviana Vazquez (Paralegal)	Rate	Hours	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$55,460.00 \$437.50 \$114,072.50 Fee \$4,987.50 \$11,102.50 \$8,645.00 \$245.00
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23  Attorney Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Viviana Vazquez (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 24	Rate	## ## ## ## ## ## ## ## ## ## ## ## ##	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$0.00 \$5,460.00 \$437.50 \$114,072.50 Fee \$4,987.50 \$1,102.50 \$8,645.00 \$245.00 \$245.00 \$14,980.00
Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23 Tital Paralegal Joshua A. Migdal (Partner) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23 Tital Paralegal Joshua A. Migdal (Partner) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 24 Tosk 25: Drafting 1	Rate	## Hours  25  27  70  22  100  0  16.8  2.5  236.3   ## Firmative Defenses  Hours  9.5  2.1  26.6  1.4  39.6  Preliminary Class Cert.  Hours	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$5.460.00 \$5.460.00 \$437.50 \$114,072.50 Fee \$4,987.50 \$51,102.50 \$8,645.00 \$245.00 \$514,980.00 \$614,980.00 \$614,980.00 \$616ation Does Fee
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23  Tital Partner) Joshua A. Migdal (Partner) Vaniv Adar (Partner) Joshua A. Migdal (Partner) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 24 Tosk 25: Drofting 5	Rate   \$525	### ##################################	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$5,460.00 \$5437.50 \$114,072.50 Fee \$4,987.50 \$11,102.50 \$8,645.00 \$245.00 \$14,980.00 \$14,980.00 \$14,980.00 \$14,980.00 \$14,980.00 \$14,980.00 \$14,980.00 \$14,980.00 \$14,980.00
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23  Attorney Niki Namazi (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 25 Total Fee Request for Task 24 Task 25: Drofting 5 Attorney Yaniv Adar (Partner) Etan Mark	Rate	## Hours  25  27  70  22  100  0  16.8  2.5  236.3   ## Firmative Defenses  Hours  9.5  2.1  26.6  1.4  39.6  Preliminary Class Cert.  Hours	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$5.460.00 \$5.460.00 \$437.50 \$114,072.50 Fee \$4,987.50 \$51,102.50 \$8,645.00 \$245.00 \$514,980.00 \$614,980.00 \$614,980.00 \$616ation Does Fee
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23  Attorney Joshua A. Migdal (Partner) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23  Attorney Vaniv Adar (Partner) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 24 Task 25: Drafting 3 Attorney Vaniv Adar (Partner) Etan Mark (Partner)	Rate	### ##################################	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$0.00 \$5,460.00 \$437.50 \$114,072.50  Fee \$4,987.50 \$1,102.50 \$8,645.00 \$245.00 \$14,980.00 \$fication Docs Fee \$39,900.00
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23  Attorney Yaniv Adar (Partner) Joshua A. Migdal (Partner) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 24 Tosk 25: Drofting 5 Attorney Yaniv Adar (Partner) List Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 24 Tosk 25: Drofting 5 Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner)	Rate   S525   S550   S550   S550   S450   S300   S325   S175   S254   S450   S305   S175   S255   S525   S325   S175   S525   S325   S175   S525   S325   S175   S525   S325   S175   S550	### ##################################	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$11,550.00 \$45,000.00 \$5,460.00 \$437.50 \$114,072.50 \$114,072.50 \$1,102.50 \$38,645.00 \$245.00 \$14,980.00 \$14,980.00 \$15,345.00 \$15,345.00 \$15,345.00
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23  The Attorney Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 25 Total Fee Request for Task 25 Total Fee Request for Task 24 Tosk 25: Drofting 5 Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner)	Rate   S525   S550   S555   S450   S300   S325   S175   S525   S325   S325   S175   S325	## ## ## ## ## ## ## ## ## ## ## ## ##	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$45,000.00 \$55,460.00 \$437.50 \$114,072.50 Fee \$4,987.50 \$31,102.50 \$8,645.00 \$245.00 \$14,980.00 \$14,980.00 \$15,345.00 \$525,2572.50
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23 The Common State of Task 24 Task 25: Drafting 5 Attorney Viviana Vazquez (Paralegal) Total Fee Request for Task 24 Task 25: Drafting 5 Attorney Vaniv Adar (Partner) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 24 Task 25: Drafting 5 Attorney Vaniv Adar (Partner) Letan Mark (Partner) Joshua A. Migdal (Partner) Usiana Vazquez (Paralegal) Total Fee Request for Task 25	Rate   S525   S550   S550   S555   S450   S300   S325   S175   S25   S25   S325   S175   S25   S325   S175   S25   S325   S175   S25   S	Hours	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$45,460.00 \$55,460.00 \$437.50 \$114,072.50  Fee \$4,987.50 \$1,102.50 \$8,645.00 \$245.00 \$14,980.00 fication Docs Fee \$39,900.00 \$15,345.00 \$2,572.50 \$1,470.00 \$59,287.50
Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23  Attorney Joshua A. Migdal (Partner) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 24 Task 25: Drafting 3 Attorney Yaniv Adar (Partner) Letan Mark (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Viviana Vazquez (Paralegal) Total Fee Request for Task 24 Task 25: Drafting 3 Attorney Yaniv Adar (Partner) Letan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Total Fee Request for Task 25 Total Fee Request for Task 24 Task 25: Drafting 3 Attorney Yaniv Adar	Rate   S525   S550   S555   S450   S300   S325   S175   S525   S325   S325   S175   S325	## ## ## ## ## ## ## ## ## ## ## ## ##	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$45,000.00 \$5,460.00 \$437.50 \$114,072.50 Fee \$4,987.50 \$11,102.50 \$8,645.00 \$245.00 \$514,980.00 \$fication Does Fee \$39,900.00 \$15,345.00 \$2,572.50 \$1,470.00
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23  The Attorney Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 24 Tosk 25: Drofting 5 Attorney Yaniv Adar (Partner) Joshua A. Migdal (Partner) Lean Mark (Partner) Joshua A. Migdal (Partner) Yaniv Adar (Partner) Joshua A. Migdal (Partner) Viviana Vazquez (Paralegal) Total Fee Request for Task 25  Attorney Yaniv Adar (Partner) Donald J. Hayden	Rate   S525   S550   S550   S450   S300   S325   S175   S25   S25   S25   S525   S525   S525   S525   S525   S525   S525   S550   S525   S525   S525   S525   S525   S525   S526   S526   S550   S527   S52	## Hours  ## Hours	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$45,000.00 \$5,460.00 \$437.50 \$114,072.50 Fee \$4,987.50 \$14,980.00 \$14,980.00 \$14,980.00 \$15,345.00 \$245.00 \$515,345.00 \$52,572.50 \$1,470.00 \$59,287.50
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23  Tital Fee Request for Task 24 Tosk 25: Drofting 1 Attorney Yaniv Adar (Partner) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 24 Tosk 25: Drofting 1 Attorney Yaniv Adar (Partner) Letan Mark (Partner) Uviviana Vazquez (Paralegal) Total Fee Request for Task 24 Tosk 25: Drofting 1 Attorney Yaniv Adar (Partner) Loshua A. Migdal (Partner) Uviviana Vazquez (Paralegal) Total Fee Request for Task 25  Attorney Viviana Vazquez (Paralegal) Total Fee Request for Task 25	Rate   S525   S550   S555   S450   S325	Hours   Following   Hours   Hours	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$45,000.00 \$55,460.00 \$437.50 \$114,072.50  Fee \$4,987.50 \$1,102.50 \$8,645.00 \$245.00 \$14,980.00 \$15,345.00 \$15,345.00 \$25,72.50 \$1,470.00 \$59,287.50
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23  Attorney Joshua A. Migdal (Partner) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 24 Task 25: Drafting 3 Attorney Vaniv Adar (Partner) Joshua A. Migdal (Partner) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 24 Tosk 25: Drafting 3 Attorney Vaniv Adar (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner)  Uviviana Vazquez (Paralegal) Total Fee Request for Task 25 Attorney Vaniv Adar (Partner) Joshua A. Migdal (Partner) Lian Mark (Partner) Viviana Vazquez (Paralegal) Total Fee Request for Task 25  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Etan Mark	Rate   S525   S550   S5550   S450   S300   S325   S175   S25   S325	Hours   100	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$45,000.00 \$5,460.00 \$437.50 \$114,072.50  Fee \$4,987.50 \$1,102.50 \$8,645.00 \$245.00 \$14,980.00 \$15,345.00 \$25,72.50 \$1,470.00 \$59,287.50 \$1,470.00 \$59,287.50 \$1,470.00 \$59,287.50 \$1,470.00 \$59,287.50
Attorney Vaniv Adar (Partner) Letan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23  Attorney Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Viviana Vazquez (Paralegal) Total Fee Request for Task 25  Attorney Vaniv Adar (Partner) Joshua A. Migdal (Partner) Viviana Vazquez (Paralegal) Total Fee Request for Task 24 Tosk 25: Drofting 5 Attorney Vaniv Adar (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Viviana Vazquez (Paralegal) Total Fee Request for Task 25  Attorney Vaniv Adar (Partner) Joshua A. Migdal (Partner) Donald J. Hayden (Partner) Letan Mark (Partner) Joshua A. Migdal (Partner)	Rate   S525   S550   S550   S450   S325   S450   S325   S450   S325   S450   S325   S450   S525   S550   S525   S550   S525   S550   S525   S550   S525   S550   S5550   S525   S525   S5550   S525   S5550   S525   S525	Nours   Section   Nours	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$45,460.00 \$437.50 \$114,072.50 \$14,987.50 \$51,102.50 \$8,645.00 \$245.00 \$14,980.00 \$15,345.00 \$515,345.00 \$515,345.00 \$52,572.50 \$1,470.00 \$59,287.50 \$66,750.00 \$30,905.00 \$50.00 \$50.00
Total Fee Request for Task 22  Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Paul Levin (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 23 Tital Fee Request for Task 24 Tosk 25: Drafting 5 Attorney Yaniv Adar (Partner) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 24 Tosk 25: Drafting 5 Attorney Yaniv Adar (Partner) Etan Mark (Partner) Uviviana Vazquez (Paralegal) Total Fee Request for Task 24 Tosk 25: Drafting 5 Attorney Yaniv Adar (Partner) Uviviana Vazquez (Paralegal) Total Fee Request for Task 25 Attorney Viviana Vazquez (Paralegal) Total Fee Request for Task 25 Attorney Yaniv Adar (Partner) Uviviana Vazquez (Paralegal) Total Fee Request for Task 25 Attorney Yaniv Adar (Partner) Uviviana Vazquez (Paralegal) Total Fee Request for Task 25	Rate   S525   S550   S5550   S450   S300   S325   S175   S25   S325	Hours   100	Fee \$13,125.00 \$38,500.00 \$11,550.00 \$45,000.00 \$45,000.00 \$5,460.00 \$437.50 \$114,072.50  Fee \$4,987.50 \$1,102.50 \$8,645.00 \$245.00 \$14,980.00 \$15,345.00 \$25,72.50 \$1,470.00 \$59,287.50 \$1,470.00 \$59,287.50 \$1,470.00 \$59,287.50 \$1,470.00 \$59,287.50

Michelle Pelaez	\$175	0	\$0.00
(Senior Paralegal) Viviana Vazquez	\$175	29.5	\$5,162.50
(Paralegal)	<b>\$173</b>	25.5	\$3,102.50
Total Fee Request for Task 26	Took 37: Foot Donasiti	204.07	\$78,429.00
Attorney	Task 27: Fact Deposition Rate	Hours	Fee
Yaniv Adar	\$525	36.7	\$19,267.50
(Partner) Etan Mark	\$550	5.5	\$3,025.00
(Partner)	<b>\$330</b>	3.3	\$3,023.00
Jason Jones	\$450	140	\$63,000.00
(Attorney) Niki Namazi	\$325	95.1	\$30,907.50
(Associate)			
Viviana Vazquez (Paralegal)	\$175	15.2	\$2,660.00
Total Fee Request for Task 27		292.5	\$118,860.00
	: Document Review and Fa		
Attorney Yaniy Adar	<b>Rate</b> \$525	Hours 5.37E+01	Fee \$28,192.50
(Partner)	<b>\$323</b>	3.372101	\$20,132.30
Jason Jones	\$450	300	\$135,000.00
(Attorney) Niki Namazi	\$325	84.9	\$27,592.50
(Associate)			
Viviana Vazquez (Paralegal)	\$175	11.6	\$2,030.00
Total Fee Request for Task 28		450.2	\$192,815.00
	k 29: Draft First Amended		
Attorney Vaniv Adar	Rate	Hours	Fee
Yaniv Adar (Partner)	\$525	15.3	\$8,032.50
Etan Mark	\$550	11	\$6,050.00
(Partner) Jason Jones	\$450	68.51	\$30,829.50
(Attorney)	•	06.31	\$30,629.50
Niki Namazi	\$325	12.3	\$3,997.50
(Associate) Viviana Vazquez	\$175	3	\$525.00
(Paralegal)	****	·	
Total Fee Request for Task 29	20. 0 6.6	110.11	\$49,434.50
Attorney	30: Draft Second Amended Rate	Hours	Fee
Yaniv Adar	\$525	11.6	\$6,090.00
(Partner)	\$550	12.4	\$6,820.00
Etan Mark (Partner)	\$550	12.4	\$0,820.00
Joshua A. Migdal	\$525	4.9	\$2,572.50
(Partner) Niki Namazi	\$325	30	\$9,750.00
(Associate)			
Viviana Vazquez	\$175	1.5	\$262.50
(Paralegal)			
		60.4	\$25,495,00
Total Fee Request for Task 30	niscellaneous Case and Pro	60.4 lect Management (Flo.	\$25,495.00 rida)
Total Fee Request for Task 30  Task 31: N  Attorney	Rate	ect Management (Flo Hours	rida) Fee
Total Fee Request for Task 30  Task 31: N  Attorney  Yaniv Adar		ect Management (Flo	rida)
Total Fee Request for Task 30  Task 31: N  Attorney  Yaniv Adar  (Partner)  Lara Grillo	Rate	ect Management (Flo Hours	rida) Fee
Total Fee Request for Task 30  Task 31: M  Attorney  Yaniv Adar  (Partner)  Lara Grillo  (Partner)	<b>Rate</b> \$525 \$450	Hours 30 11.3	rida) Fee \$15,750.00 \$5,085.00
Total Fee Request for Task 30  Task 31: N  Attorney  Yaniv Adar  (Partner)  Lara Grillo	<b>Rate</b> \$525	ect Management (Flo Hours 30	rida) Fee \$15,750.00
Total Fee Request for Task 30 Tosk 31: N Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark	<b>Rate</b> \$525 \$450	Hours 30 11.3	rida) Fee \$15,750.00 \$5,085.00
Total Fee Request for Task 30  Task 31: N  Attorney  Yaniv Adar (Partner)  Lara Grillo (Partner)  Donald J. Hayden (Partner)  Etan Mark (Partner)	\$525 \$450 \$650 \$550		rida) Fee \$15,750.00 \$5,085.00 \$2,015.00 \$4,455.00
Total Fee Request for Task 30  Tosk 31: N  Attorney  Yaniv Adar (Partner)  Lara Grillo (Partner)  Donald J. Hayden (Partner)  Etan Mark (Partner)  Joshua A. Migdal (Partner)	\$525 \$450 \$650	Hours 30 11.3 3.1	rida)  Fee \$15,750.00  \$5,085.00  \$2,015.00  \$4,455.00  \$5,250.00
Total Fee Request for Task 30 Task 31: N Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones	\$525 \$450 \$650 \$550		rida) Fee \$15,750.00 \$5,085.00 \$2,015.00 \$4,455.00
Total Fee Request for Task 30  Tosk 31: N  Attorney  Yaniv Adar (Partner)  Lara Grillo (Partner)  Donald J. Hayden (Partner)  Etan Mark (Partner)  Joshua A. Migdal (Partner)	Rate           \$525           \$450           \$650           \$550           \$525           \$450	ect Management (Flo   Hours   30   11.3   3.1   8.1   10	Fee   \$15,750.00   \$5,085.00   \$2,015.00   \$4,455.00   \$5,250.00   \$13,500.00   \$13,500.00
Total Fee Request for Task 30 Task 31: N Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate)	Rate           \$525           \$450           \$650           \$550           \$525           \$450           \$325		Fee   \$15,750.00   \$5,085.00   \$2,015.00   \$4,455.00   \$51,250.00   \$13,500.00   \$16,250.00   \$16,250.00
Total Fee Request for Task 30  Tosk 31: N  Attorney  Yaniv Adar (Partner)  Lara Grillo (Partner)  Donald J. Hayden (Partner)  Etan Mark (Partner)  Joshua A. Migdal (Partner)  Jason Jones (Attorney)  Niki Namazi (Associate)  Viviana Vazquez	Rate           \$525           \$450           \$650           \$550           \$525           \$450	Hours   Hours   Hours	Fee   \$15,750.00   \$5,085.00   \$2,015.00   \$4,455.00   \$5,250.00   \$13,500.00   \$13,500.00
Total Fee Request for Task 30  Tosk 31: N  Attorney  Yaniv Adar (Partner)  Lara Grillo (Partner)  Donald J. Hayden (Partner)  Etan Mark (Partner)  Joshua A. Migdal (Partner)  Jason Jones (Attorney)  Niki Namazi (Associate)  Viviana Vazquez (Paralegal)	Rate           \$525           \$450           \$650           \$550           \$525           \$450           \$325		rida)  Fee  \$15,750.00  \$5,085.00  \$2,015.00  \$4,455.00  \$5,250.00  \$13,500.00  \$16,250.00  \$1,715.00
Total Fee Request for Task 30  Tosk 31: N  Attorney  Yaniv Adar (Partner)  Lara Grillo (Partner)  Donald J. Hayden (Partner)  Etan Mark (Partner)  Joshua A. Migdal (Partner)  Jason Jones (Attorney)  Niki Namazi (Associate)  Viviana Vazquez (Paralegal)  Total Fee Request for Task 31  Task 32: Conte	Rate   S525   S450   S650   S550   S525   S450   S325   S450   S325   S175   S450   S325   S175   S450   S326   S175   S450   S327   S450	Hours   30   11.3   3.1   8.1   10   30   50   9.8   152.3   Conference, Hearings	rida) Fee \$15,750.00 \$15,750.00 \$5,085.00 \$2,015.00 \$4,455.00 \$5,250.00 \$13,500.00 \$16,250.00 \$1,715.00 \$64,020.00 (Florida)
Total Fee Request for Task 30  Task 31: N  Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vasquez (Paralegal) Total Fee Request for Task 31  Task 32: Conte	Rate	Hours   Hours	Fee   \$15,750.00   \$5,085.00   \$5,085.00   \$2,015.00   \$4,455.00   \$5,250.00   \$13,500.00   \$16,250.00   \$17,715.00   \$64,020.00   \$6
Total Fee Request for Task 30  Tosk 31: N  Attorney  Yaniv Adar (Partner)  Lara Grillo (Partner)  Donald J. Hayden (Partner)  Etan Mark (Partner)  Joshua A. Migdal (Partner)  Jason Jones (Attorney)  Niki Namazi (Associate)  Viviana Vazquez (Paralegal)  Total Fee Request for Task 31  Task 32: Conte	Rate   S525   S450   S650   S550   S525   S450   S325   S450   S325   S175   S450   S325   S175   S450   S326   S175   S450   S327   S450	Hours   30   11.3   3.1   8.1   10   30   50   9.8   152.3   Conference, Hearings	rida) Fee \$15,750.00 \$15,750.00 \$5,085.00 \$2,015.00 \$4,455.00 \$5,250.00 \$13,500.00 \$16,250.00 \$1,715.00 \$64,020.00 (Florida)
Total Fee Request for Task 30  Task 31: N  Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31  Task 32: Conte Attorney Yaniv Adar (Partner) Etan Mark	Rate	Hours   Hours	Fee   \$15,750.00   \$5,085.00   \$5,085.00   \$2,015.00   \$4,455.00   \$5,250.00   \$13,500.00   \$16,250.00   \$17,715.00   \$64,020.00   \$6
Total Fee Request for Task 30  Tosk 31: N  Attorney  Yaniv Adar (Partner)  Lara Grillo (Partner)  Donald J. Hayden (Partner)  Etan Mark (Partner)  Joshua A. Migdal (Partner)  Jason Jones (Attorney)  Niki Namazi (Associate)  Viviana Vazquez (Paralegal)  Total Fee Request for Task 31  Task 32: Conte  Attorney  Yaniv Adar (Partner)  Etan Mark (Partner)	Rate	Hours   Hours	Fee   \$15,750.00   \$15,750.00   \$5,085.00   \$2,015.00   \$4,455.00   \$5,250.00   \$13,500.00   \$16,250.00   \$1,715.00   \$64,020.00   (Florida)   Fee   \$89,250.00   \$9,240.00
Total Fee Request for Task 30  Task 31: N  Attorney  Yaniv Adar (Partner)  Lara Grillo (Partner)  Donald J. Hayden (Partner)  Etan Mark (Partner)  Joshua A. Migdal (Partner)  Jison Jones (Attorney)  Niki Namazi (Associate)  Viviana Vazquez (Paralegal)  Total Fee Request for Task 31  Task 32: Conte  Attorney  Yaniv Adar (Partner)  Etan Mark (Partner)  Joshua A. Migdal (Partner)  Joshua A. Migdal (Partner)	Rate   S525   S450   S650   S550   S525   S450   S325   S175   S175   S250   S250   S525   S550   S525   S550   S525   S550   S525   S550   S525	Hours   Hours   Hours	Fee   \$15,750.00   \$5,085.00   \$2,015.00   \$4,455.00   \$13,590.00   \$13,590.00   \$13,590.00   \$17,715.00   \$64,020.00   \$64,020.00   \$69,240.00   \$9,240.00   \$9,240.00   \$9,240.00   \$9,240.00   \$9,00
Total Fee Request for Task 30  Tosk 31: N  Attorney  Yaniv Adar (Partner)  Lara Grillo (Partner)  Donald J. Hayden (Partner)  Etan Mark (Partner)  Joshua A. Migdal (Partner)  Jason Jones (Attorney)  Niki Namazi (Associate)  Viviana Vazquez (Paralegal)  Total Fee Request for Task 31  Tosk 32: Conte  Attorney  Yaniv Adar (Partner)  Etan Mark (Partner)  Joshua A. Migdal (Partner)  Joshua A. Migdal (Partner)  Jason Jones	Rate	Hours   Hours	Fee   \$15,750.00   \$15,750.00   \$5,085.00   \$2,015.00   \$4,455.00   \$5,250.00   \$13,500.00   \$16,250.00   \$1,715.00   \$64,020.00   (Florida)   Fee   \$89,250.00   \$9,240.00
Total Fee Request for Task 30  Task 31: N  Attorney  Yaniv Adar (Partner)  Lara Grillo (Partner)  Donald J. Hayden (Partner)  Etan Mark (Partner)  Joshua A. Migdal (Partner)  Jison Jones (Attorney)  Niki Namazi (Associate)  Viviana Vazquez (Paralegal)  Total Fee Request for Task 31  Task 32: Conte  Attorney  Yaniv Adar (Partner)  Etan Mark (Partner)  Joshua A. Migdal (Partner)  Joshua A. Migdal (Partner)	Rate   S525   S450   S650   S550   S525   S450   S325   S175   S175   S250   S250   S525   S550   S525   S550   S525   S550   S525   S550   S525	Hours   Hours   Hours	Fee   \$15,750.00   \$5,085.00   \$2,015.00   \$4,455.00   \$13,590.00   \$13,590.00   \$13,590.00   \$17,715.00   \$64,020.00   \$64,020.00   \$69,240.00   \$9,240.00   \$9,240.00   \$9,240.00   \$9,240.00   \$9,00
Total Fee Request for Task 30  Tosk 31: N  Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Partaegal) Total Fee Request for Task 31: Tosk 32: Conte Attorney Yaniv Adar (Partner) Jason Jones (Attorney) Viviana Vazquez (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate)	Rate   S525   S450   S650   S5550   S525   S450   S525   S450   S525   S5550   S525   S5550   S525   S5550   S525   S450   S325   S450   S325   S325   S450   S325   S32	Hours   170   16.8   190   1	Fee   \$15,750.00   \$5,085.00   \$5,085.00   \$2,015.00   \$4,455.00   \$13,500.00   \$13,500.00   \$17,715.00   \$64,020.00   \$64,020.00   \$9,240.00   \$9,240.00   \$0.00   \$40,500.00   \$29,250.00   \$29,250.00   \$29,250.00   \$29,250.00   \$29,250.00   \$29,250.00   \$29,250.00   \$29,250.00   \$29,250.00   \$29,250.00   \$29,250.00   \$20,000   \$20,
Total Fee Request for Task 30  Task 31: N  Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31  Task 32: Conte Attorney Yaniv Adar (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez	Rate   S525   S450   S650   S555   S450   S755	Hours   Hours   Hours	Fee   \$15,750.00   \$5,085.00   \$2,015.00   \$2,015.00   \$4,455.00   \$13,500.00   \$13,500.00   \$17,715.00   \$64,020.00   \$64,020.00   \$9,240.00   \$9,240.00   \$0.00   \$40,500.
Total Fee Request for Task 30  Tosk 31: N  Attorney  Yaniv Adar (Partner)  Lara Grillo (Partner)  Donald J. Hayden (Partner)  Etan Mark (Partner)  Joshua A. Migdal (Partner)  Jason Jones (Attorney)  Niki Namazi (Associate)  Viviana Vazquez (Paralegal)  Total Fee Request for Task 31  Tosk 32: Conte  Attorney  Yaniv Adar (Partner)  Jason Jones (Attorney)  Niki Namazi (Rassociate)  Viviana Vazquez (Paralegal)  Total Fee Request for Task 31  (Partner)  Jason Jones (Attorney)  Niki Namazi (Associate)  Viviana Vazquez (Paralegal)  Total Fee Request for Task 32	Rate   S525   S450   S650   S550   S525   S450   S325   S175   S525   S450   S325   S525   S450   S325   S525   S450   S325   S450   S325   S450   S325   S175	Hours   170   16.8   170   18.9   1	Fee   \$15,750.00   \$5,085.00   \$5,085.00   \$2,015.00   \$4,455.00   \$13,500.00   \$13,500.00   \$17,715.00   \$54,020.00   \$64,020.00   \$64,020.00   \$9,240.00   \$9,240.00   \$33,07.50   \$33,07.50   \$171,547.50   \$171,547.50   \$171,547.50   \$171,547.50   \$171,547.50   \$1171,547.5
Total Fee Request for Task 30  Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31. Task 32: Conte Attorney Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31. Task 32: Conte Attorney Jason Jones (Attorney) Jason Jones (Attorney) Niki Namazi (Rasociate) Viviana Vazquez (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 33: A	Rate   S525   S450   S650   S550   S525   S450   S325   S175   S525   S450   S525   S450   S525   S450   S525   S450   S525   S450   S525   S450   S325   S175   S450   S325   S175   S460   S325   S175   S460	Hours   Hours   Hours	rida)  Fee  \$15,750.00  \$5,085.00  \$2,015.00  \$4,455.00  \$13,500.00  \$13,500.00  \$1,715.00  \$64,020.00  (Florida)  Fee  \$89,250.00  \$0,00  \$40,500.00  \$29,250.00  \$3,307.50  \$171,547.50
Total Fee Request for Task 30  Tosk 31: N  Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Parlaegal) Total Fee Request for Task 31 Tosk 32: Conte Attorney Yaniv Adar (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 32 Tosk 33: A	Rate   S525   S450   S650   S550   S525   S450   S325   S175   S525   S450   S525   S450   S525   S450   S525   S450   S525   S450	Hours   170   16.8   170   18.9   1	rida)  Fee  \$15,750.00  \$5,085.00  \$2,015.00  \$4,455.00  \$4,455.00  \$13,500.00  \$13,500.00  \$1,715.00  \$64,020.00  (Florida)  Fee  \$89,250.00  \$0.00  \$29,240.00  \$3,307.50  \$13,307.50  \$171,547.50  rida)  Fee
Total Fee Request for Task 30  Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31 Task 32: Conte Attorney Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31 Task 32: Conte Attorney Yaniv Adar (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 32: Tosk 33: A Attorney Yaniv Adar (Partner)	Rate   S525   S450   S650   S550   S525   S450   S650   S525   S450   S650	Hours   Float   Float	Fee
Total Fee Request for Task 30  Tosk 31: N  Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31: Task 32: Conte Attorney Yaniv Adar (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31: Task 32: Conte Attorney Yaniv Adar (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 32: Tosk 33: A  Attorney Yaniv Adar (Partner) Lara Grillo	Rate   S525   S450   S650   S550   S525   S450   S325   S175   S525   S450   S525   S450   S525   S450   S525   S450   S525   S450	Hours	rida)  Fee  \$15,750.00  \$5,085.00  \$2,015.00  \$4,455.00  \$4,455.00  \$13,500.00  \$13,500.00  \$1,715.00  \$64,020.00  (Florida)  Fee  \$89,250.00  \$0.00  \$29,240.00  \$3,307.50  \$13,307.50  \$171,547.50  rida)  Fee
Total Fee Request for Task 30  Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31 Task 32: Conte Attorney Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31 Task 32: Conte Attorney Yaniv Adar (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 32: Tosk 33: A Attorney Yaniv Adar (Partner)	Rate   S525   S450   S650   S550   S525   S450   S650   S525   S450   S650	Hours   Float   Float	Fee
Total Fee Request for Task 30  Tosk 31: N  Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31  Tosk 32: Conte Attorney Yaniv Adar (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 32 Tosk 33: A Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner)	Rate   S525   S450   S650   S550   S550   S525   S450   S650	Hours   16.8   Hours   17.0	Fee   \$15,750.00   \$5,085.00   \$5,085.00   \$2,015.00   \$4,455.00   \$13,500.00   \$13,500.00   \$13,500.00   \$16,250.00   \$17,715.00   \$64,020.00   \$64,020.00   \$9,240.00   \$9,240.00   \$3,307.50   \$33,307.50   \$171,547.50   \$171,547.50   \$66,020.00   \$171,547.50   \$171,547.50   \$18,945.00   \$18,945.00   \$18,945.00   \$0.00   \$
Total Fee Request for Task 30  Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31 Task 32: Conte Attorney Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31 Tosk 32: Conte Attorney Yaniv Adar (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 32: A Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Lara Grillo (Partner) Etan Mark	Rate   S525   S450   S650   S550   S525   S450   S325   S175   S250   S525   S450   S525   S450   S525   S450   S525   S450   S525   S450   S325   S175   S450   S325   S175   S450	Sect   Management (Flo   Hours   No.	rida)  Fee  \$15,750.00  \$5,085.00  \$2,015.00  \$4,455.00  \$13,500.00  \$13,500.00  \$17,15.00  \$64,020.00  (Florida)  Fee  \$89,250.00  \$3,307.50  \$171,547.50  rida)  Fee  \$26,250.00  \$18,945.00
Total Fee Request for Task 30  Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31: Task 32: Conte Attorney Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31: Task 32: Conte Attorney Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 32: A Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Etan Mark (Partner) Joshua A. Migdal	Rate   S525   S450   S650   S550   S550   S525   S450   S650	Hours   16.8   Hours   17.0	Fee   \$15,750.00   \$5,085.00   \$5,085.00   \$2,015.00   \$4,455.00   \$13,500.00   \$13,500.00   \$13,500.00   \$16,250.00   \$17,715.00   \$64,020.00   \$64,020.00   \$9,240.00   \$9,240.00   \$3,307.50   \$33,307.50   \$171,547.50   \$171,547.50   \$66,020.00   \$171,547.50   \$171,547.50   \$18,945.00   \$18,945.00   \$18,945.00   \$0.00   \$
Total Fee Request for Task 30  Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Miki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31 Task 32: Conte Attorney Yaniv Adar (Partner) Joshua A. Migdal (Partner) Etan Mark (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Lara Grillo (Partner) Lara Grillo (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Lara Grillo (Partner) Etan Mark (Partner) Lara Grillo (Partner) Lara Grillo (Partner) Etan Mark (Partner) Lara Grillo (Partner) Lara Grillo (Partner) Lara Middal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal	Rate   S525   S450   S550   S550   S525   S450   S550   S550   S5550   S5550   S5550   S5550   S525   S450   S5550   S5550   S525   S450   S5550   S5550   S525   S450   S5550   S525   S525   S450   S5550   S525   S525   S450   S5550   S5550   S525   S525   S525   S450   S5550   S525   S525	Section   Float	Fee   \$15,750.00   \$5,085.00   \$2,015.00   \$2,015.00   \$4,455.00   \$13,500.00   \$13,500.00   \$13,500.00   \$17,715.00   \$64,020.00   \$17,715.00   \$64,020.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$11,845.00   \$11,845.00   \$11,865.00   \$
Total Fee Request for Task 30  Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Joshua A. Migdal (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31: Task 32: Conte Attorney Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31: Task 32: Conte Attorney Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 32: A Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Etan Mark (Partner) Joshua A. Migdal	Rate   S525   S450   S650   S550   S525   S450   S650   S550   S550   S550   S550   S550   S550   S450   S650   S550   S650	Section   Float	Fee   \$15,750.00   \$5,085.00   \$5,085.00   \$2,015.00   \$4,455.00   \$13,500.00   \$13,500.00   \$13,500.00   \$17,715.00   \$64,020.00   \$17,715.00   \$64,020.00   \$19,240.00   \$10,000
Total Fee Request for Task 30  Tosk 31: N  Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31 Tosk 32: Conte Attorney Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31 Tosk 32: Conte Attorney Vaniv Adar (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 32 Tosk 33: A Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Lara Grillo (Partner) Joshua A. Migdal (Partner) Lara Grillo (Partner) Lara Grillo (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi	Rate   S525   S450   S550   S550   S525   S450   S550   S550   S5550   S5550   S5550   S5550   S525   S450   S5550   S5550   S525   S450   S5550   S5550   S525   S450   S5550   S525   S525   S450   S5550   S525   S525   S450   S5550   S5550   S525   S525   S525   S450   S5550   S525   S525	Section   Float	Fee   \$15,750.00   \$5,085.00   \$2,015.00   \$2,015.00   \$4,455.00   \$13,500.00   \$13,500.00   \$13,500.00   \$17,715.00   \$64,020.00   \$17,715.00   \$64,020.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$19,240.00   \$11,845.00   \$11,845.00   \$11,865.00   \$
Total Fee Request for Task 30  Attorney Yaniv Adar (Partner) Lara Grillo (Partner) Donald J. Hayden (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31  Tosk 32: Conte Attorney Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 31.  Tosk 32: Conte Attorney Jason Jones (Attorney) Niki Namazi (Partner) Jason Jones (Attorney) Niki Namazi (Associate) Viviana Vazquez (Paralegal) Total Fee Request for Task 32. Tosk 33: A Attorney Yaniv Adar (Partner) Jason Jones (Attorney) Lara Grillo (Partner) Lara Grillo (Partner) Etan Mark (Partner) Etan Mark (Partner) Lara Grillo (Partner) Etan Mark (Partner) Joshua A. Migdal (Partner) Jason Jones (Attorney)	Rate   S525   S450   S550   S525   S450   S650   S550   S550   S5550   S5550   S5555   S450   S5550   S5550   S5555   S450   S5550   S5555   S450   S5550   S5555   S450   S5555   S450   S5555   S450   S5555   S450   S5525   S450   S450   S5525   S450   S5525   S450   S5525   S450   S5525   S450   S5525   S450   S450	ect Management (Flo   Hours   100	Fee   \$15,750.00   \$5,085.00   \$2,015.00   \$2,015.00   \$4,455.00   \$13,500.00   \$13,500.00   \$13,500.00   \$17,715.00   \$64,020.00   \$64,020.00   \$64,020.00   \$9,240.00   \$29,250.00   \$3,307.50   \$171,547.50   \$171,547.50   \$171,547.50   \$18,945.00   \$18,945.00   \$18,945.00   \$26,250.00   \$11,865.00   \$27,000.00

#### Case 2:18-cv-07480-JAK-MRW Document 401-1 Filed 09/08/23 Page 10 of 21 Page ID #:13248

Viviana Vazquez	\$175	12.2	\$2,135.00
(Paralegal)			
al Fee Request for Task 33		328.6	\$154,747.50
Task 34: Appellate Bi	iefing and Argument Be	fore Eleventh Circuit Co	urt of Appeals
Attorney	Rate	Hours	Fee
Yaniv Adar (Partner)	\$525	7.2	\$3,780.00
Lara Grillo (Partner)	\$450	110	\$49,500.00
Donald J. Hayden (Partner)	\$650	0	\$0.00
Etan Mark (Partner)	\$550	58	\$31,900.00
Joshua A. Migdal (Partner)	\$525	6	\$3,150.00
Jason Jones (Attorney)	\$450	110	\$49,500.00
Michelle Pelaez (Senior Paralegal)	\$175	27.7	\$4,847.50
Viviana Vazquez (Paralegal)	\$175	5.5	\$962.50
al Fee Request for Task 34		324.4	\$143,640.00

Projected Future Fees - Motion for Preliminary Approval, Motion for Final Approval, Dealing with Objections, Travel to Hearing, Claims Process, etc.									
Attorney									
Yaniv Adar (Partner)	\$525	30	\$15,750.00						
Etan Mark (Partner)	\$550	45	\$24,750.00						
Total Fee Request for Future Fe	es	75	\$40,500.00						

L FEE REQUEST: \$3,935,806.50 8536.8

# EXHIBIT B

#### Attorney's Fees Summary Chart

			Table 2			
Attorney	Rate	Task #	HOURS B	Y TASK	TOT	TALS .
Etan Mark	\$550 /	2	Draft Orig.			
(Partner)	hour		Complaint	50	Hours:	1260
		3	Motion to Stay			
			Discovery	4.2	Amount:	\$693,11
		4				
			Motion to			
			Dismiss Before			
			Transfer	19		
		5	Arbitration			
			and Transfer			
			Motions	115		
		6	Juris.			
			Discovery	40.5		
		8	Misc Case			
			Management			
			Before			
			Transfer	25		
		9	Case			
			Assessment			
			After Transfer	7.7		
		10	Fact Depos	103.1		
		11	Contested			
			Discovery	70		
		12	Written			
			Discovery	20		
		14	Motion to			
			Dismiss (CA)	55		
		15	Class Cert			
			Motion	60		
		16	Draft FAC (CA)	9.2		
		17	Second MTD			
			(CA)	36.2		
		18	Mediation /			
			Settlement	98.8		
		19	Misc Case			
			Management	100		
		20				
			Expert Reports	60		
		21	Expert Depos	9.3		
		22	Daubert			
			Motions	15.4		
		23	MSJ	70		

	Í	25	Prelim			
		25	Approval			
			Paperwork	27.9		
		26	Written	27.3		
		20	Discovery (FL)	7.1		
		27	Fact Depos	7.1		
		2 /	(FL)	5.5		
		29	Draft FAC (FL)	11		
		30	Draft SAC	12.4		
		31	Misc Case	12.4		
		31	Mgmt (FL)	8.1		
		32	Contested	0.1		
		32	Discovery (FL)	16.8		
		22				
		33	MTD (FL)	100		
		34	Appeal	58		
	4505 /	N/A	Proj. Fees	45		4257.6
Yaniv Adar	\$525 /	10	Fact Depos	75.2	Hours:	1357.6
(Partner)	hour	11	Contested			
			Discovery	250	Amount:	\$712,740
		12	Written			
			Discovery	55		
		13	Doc Review	13.8		
		14	Motion to			
			Dismiss (CA)	3.1		
		15	Class Cert			
			Motion	80		
		16	Draft FAC (CA)	5.5		
		17	Second MTD			
			(CA)	25.8		
		18	Mediation /			
			Settlement	34.2		
		19	Misc Case			
			Management	100		
		20				
			Expert Reports	35		
		21	Expert Depos	20		
		22	Daubert			
			Motions	75		
		23	MSJ	25		
		24	Motion to			
			Strike AF	9.5		
		25	Prelim			
			Approval			
			Paperwork	76		
		26	Written			
	1		Discovery (FL)			

I	I	la=	In a December 1		Ī	I
		27	Fact Depos			
			(FL)	36.7		
		28	Doc Review			
			(FL)	53.7		
		29	Draft FAC (FL)	15.3		
		30	Draft SAC	11.6		
		31	Misc Case			
			Mgmt (FL)	30		
		32	Contested			
			Discovery (FL)	170		
		33	MTD (FL)	50		
		34	Appeal	7.2		
		N/A	Proj. Fees	30		
Don Hayden	\$650/	2	Draft Orig.			
(Partner)	hour		Complaint	4	Hours:	116.8
		3	Motion to Stay			
			Discovery	1.4	Amount:	\$75,920
		4	,			
			Motion to			
			Dismiss Before			
			Transfer	0		
		5	Arbitration			
			and Transfer			
			Motions	50		
		6	Juris.	30		
		10	Discovery	9.1		
		8	Misc Case	9.1		
		0				
			Management Before			
				4.5		
			Transfer	15		
		9	Case			
			Assessment			
			After Transfer	5.7		
		11	Contested			
			Discovery	0		
		14	Motion to			
			Dismiss (CA)	22.5		
		15	Class Cert			
			Motion	6		
		17	Second MTD			
			(CA)	0		
		18	Mediation /			
		1	Settlement	0		
		19	Misc Case			
		1	Management	0		
		26	Written			
			Discovery (FL)	0		
ı	I	L				

		31	Misc Case			
			Mgmt (FL)	3.1		
		33	MTD (FL)	0		
		34	Appeal	0	ł.	
Joshua A. Migdal	\$525 /	2	Draft Orig.			
(Partner)	hour	_	Complaint	4.1	Hours:	447.7
()		3	Motion to Stay			
			Discovery	0	Amount:	\$235,043
		4	,			<b>7</b>
			Motion to			
			Dismiss Before			
			Transfer	9.5		
		5	Arbitration			
			and Transfer			
			Motions	70		
		6	Juris.			
			Discovery	11.5		
		8	Misc Case			
			Management			
			Before			
			Transfer	6.1		
		9	Case	0.1		
			Assessment			
			After Transfer	20		
		10	Fact Depos	11.1		
		11	Contested			
		1 1	Discovery	8.3		
		13	Doc Review	3.8		
		14	Motion to	3.0		
		14	Dismiss (CA)	0		
		15	Class Cert			
		13	Motion	30		
		17	Second MTD	30		
		1 /	(CA)	0		
		18	Mediation /			
		10	Settlement	112.2		
		19	Misc Case	112.2		
		19	Management	50.6		
		20	ivianagement	30.0		
		20	Expert Reports	13.6		
		21	Expert Depos	4.4		
		21 22	Daubert	4.4		
		22		20		
		22	Motions	20		
		23	MSJ	22		
		24	Motion to	2.4		
			Strike AF	2.1		

Approval   Paperwork   4.9   26   Written   Discovery (FL)   0   30   Draft SAC   4.9   31   Misc Case   Mgmt (FL)   10   32   Contested   Discovery (FL)   0   33   MTD (FL)   22.6   34   Appeal   6   Complaint   40   Hours:   3   Motion to Stay				Prelim	25		
Paperwork   4.9							
26   Written   Discovery (FL)   0   30   Draft SAC   4.9   31   Misc Case   Mgmt (FL)   10   32   Contested   Discovery (FL)   0   33   MTD (FL)   22.6   34   Appeal   6   Appeal   Appeal   6   Appeal   6   Appeal   6   Appeal   6   Appeal   App			4.9				
Discovery (FL)					26		
30			0				
31					30		
Mgmt (FL)			_				
Second Second   Second Secon			10				
Discovery (FL)   0   33   MTD (FL)   22.6   34   Appeal   6   6					32		
33   MTD (FL)   22.6   34   Appeal   6   6			0				
Sample   S					33		
Substitution							
hour Complaint 40 3 Motion to Stay Discovery 14.4 4 Motion to Dismiss Before Transfer 12 5 Arbitration and Transfer Motions 120 6 Juris. Discovery 10.6 8 Misc Case Management Before Transfer 8 9 Case Assessment After Transfer 25 14 Motion to Dismiss (CA) 26.7 31 Misc Case Mgmt (FL) 11.3			- J		_	\$450 /	Lara Grillo (Partner)
3 Motion to Stay Discovery 14.4 4 Motion to Dismiss Before Transfer 12 5 Arbitration and Transfer Motions 120 6 Juris. Discovery 10.6 8 Misc Case Management Before Transfer 8 9 Case Assessment After Transfer 25 14 Motion to Dismiss (CA) 26.7 31 Misc Case Mgmt (FL) 11.3	420.1	Hours	40	_	2		Lara Grillo (Fartiler)
Discovery 14.4  Motion to Dismiss Before Transfer 12  Arbitration and Transfer Motions 120  Juris. Discovery 10.6  Misc Case Management Before Transfer 8  Case Assessment After Transfer 25  Motion to Dismiss (CA) 26.7  Misc Case Mgmt (FL) 11.3	720.1	ilouis.		· ·	2	Houi	
Motion to Dismiss Before Transfer 12  Arbitration and Transfer Motions 120  Juris. Discovery 10.6  Misc Case Management Before Transfer 8  Case Assessment After Transfer After Transfer Motion to Dismiss (CA) Misc Case Mgmt (FL)  12  5  Arbitration 120  6  Juris. 120  6  Juris. 120  6  Juris. 120  6  Juris. 120  14  Motions 120  120  14  Motion to Dismiss (CA) 10.6  11.3	\$189,045	Amount:	14.4		3		
Motion to Dismiss Before Transfer 12  5 Arbitration and Transfer Motions 120  6 Juris. Discovery 10.6  8 Misc Case Management Before Transfer 8  9 Case Assessment After Transfer 25  14 Motion to Dismiss (CA) 26.7  31 Misc Case Mgmt (FL) 11.3	<b>3103,04</b> 3	Amount.	14.4	Discovery	4		
Dismiss Before Transfer 12 5 Arbitration and Transfer Motions 120 6 Juris. Discovery 10.6 8 Misc Case Management Before Transfer 8 9 Case Assessment After Transfer 25 14 Motion to Dismiss (CA) 26.7 31 Misc Case Mgmt (FL) 11.3				Motion to	4		
Transfer 12  Arbitration and Transfer Motions 120  Juris. Discovery 10.6  Misc Case Management Before Transfer 8  Case Assessment After Transfer 25  Motion to Dismiss (CA) 26.7  Misc Case Mgmt (FL) 11.3							
5 Arbitration and Transfer Motions 120 6 Juris. Discovery 10.6 8 Misc Case Management Before Transfer 8 9 Case Assessment After Transfer 25 14 Motion to Dismiss (CA) 26.7 31 Misc Case Mgmt (FL) 11.3			12				
and Transfer Motions  120  Juris. Discovery  10.6  Misc Case Management Before Transfer  8  Case Assessment After Transfer  Motion to Dismiss (CA)  Misc Case Mgmt (FL)  11.3			12		_		
Motions 120 6 Juris. Discovery 10.6 8 Misc Case Management Before Transfer 8 9 Case Assessment After Transfer 25 14 Motion to Dismiss (CA) 26.7 31 Misc Case Mgmt (FL) 11.3					5		
6 Juris. Discovery 10.6  8 Misc Case Management Before Transfer 8  9 Case Assessment After Transfer 25  14 Motion to Dismiss (CA) 26.7  31 Misc Case Mgmt (FL) 11.3			420				
Discovery 10.6  Misc Case Management Before Transfer 8  Case Assessment After Transfer 25  Motion to Dismiss (CA) 26.7  Misc Case Mgmt (FL) 11.3			120				
8 Misc Case Management Before Transfer 8 9 Case Assessment After Transfer 25 14 Motion to Dismiss (CA) 26.7 31 Misc Case Mgmt (FL) 11.3					6		
Management Before Transfer 8  9 Case Assessment After Transfer 25  14 Motion to Dismiss (CA) 26.7  31 Misc Case Mgmt (FL) 11.3			10.6				
Before   Transfer   8   9   Case   Assessment   25   14   Motion to   Dismiss (CA)   26.7   31   Misc Case   Mgmt (FL)   11.3					8		
Transfer       8         9       Case         Assessment       25         14       Motion to         Dismiss (CA)       26.7         31       Misc Case         Mgmt (FL)       11.3				_			
9							
Assessment After Transfer  25  14 Motion to Dismiss (CA)  31 Misc Case Mgmt (FL)  11.3			8				
After Transfer 25  14 Motion to					9		
14 Motion to Dismiss (CA) 26.7 31 Misc Case Mgmt (FL) 11.3							
Dismiss (CA) 26.7  31 Misc Case  Mgmt (FL) 11.3			25	After Transfer			
31 Misc Case Mgmt (FL) 11.3				Motion to	14		
Mgmt (FL) 11.3			26.7	Dismiss (CA)			
				Misc Case	31		
33 MTD (FL) 42.1			11.3	Mgmt (FL)			
			42.1	MTD (FL)	33		
34 Appeal 110			110	Appeal	34		
George Breur \$400 / 5 Arbitration				Arbitration	5	\$400 /	George Breur
(Partner) hour and Transfer				and Transfer		hour	_
Motions 0 Hours:	(	Hours:	0	Motions			
6 Juris.				Juris.	6		
Discovery 0 Amount:	\$0	Amount:	О	Discovery			
Niki Namazi \$325 / 11 Contested				· ·	11	\$325 /	Niki Namazi
(Associate) hour Discovery 17.9 <b>Hours:</b>	627	Hours:	17.9				
17 Second MTD					17		,
(CA) 0 Amount: \$20			0				

	ĺ	19	Misc Case			ĺ
			Management	11.7		
		20	Wanagement			
		20	Expert Reports	17.7		
		21	Expert Depos	12.3		
		22	Daubert			
			Motions	30		
		23	MSJ	16.8		
		24	Motion to	10.0		
		2-7	Strike AF	26.6		
		26	Written	20.0		
		20	Discovery (FL)	90		
		27	Fact Depos	30		
		27	(FL)	95.1		
		28	Doc Review	33.1		
		20	(FL)	84.9		
		29	Draft FAC (FL)	12.3		
		30	Draft SAC	30		
		31	Misc Case	30		
		31	Mgmt (FL)	50		
		32	Contested	30		
		32	Discovery (FL)	90		
		33	MTD (FL)	41.7		
Jason Jones	\$450 /	1	Pre-Suit	71.7		
(Attorney)	hour		Investigation	150	Hours:	3287.98
(Attorney)	lioui	2	Draft Orig.	130	mours.	3207.50
		2	Complaint	50	Δmount:	\$1,479,591
		4	Complaint	30	Amount.	71,773,331
			Motion to			
			Dismiss Before			
			Transfer	45		
		5	Arbitration			
			and Transfer			
			Motions	60		
		6	Juris.			
			Discovery	70		
		7	Invest. and	70		
			Fact Research	90		
		8	Misc Case	30		
			Management			
			Before			
			Transfer	70		
		9	Case	, 0		
			Assessment			
			After Transfer	20		
		10	Fact Depos	350		
	I	<u> </u>	. acc Depos	330		

1		11	Contested			ĺ
		1 1	Discovery	20		
		12	Written	20		
		12	Discovery	200		
		13	Doc Review	600		
		14	Motion to	000		
		14		74		
		4.5	Dismiss (CA) Class Cert	74		
		15		00		
		1.6	Motion	80		
		16	Draft FAC (CA)	35		
		17	Second MTD			
			(CA)	40		
		18	Mediation /			
			Settlement	25		
		19	Misc Case			
			Management	190		
		20				
			Expert Reports	100		
		21	Expert Depos	80		
		22	Daubert			
			Motions	33		
		23	MSJ	100		
		26	Written			
			Discovery (FL)	7.47		
		27	Fact Depos			
			(FL)	140		
		28	Draft FAC (FL)	300		
		29	Doc Review	68.51		
		31	Misc Case			
			Mgmt (FL)	30		
		32	Contested			
			Discovery (FL)	90		
		33	MTD (FL)	60		
		34	Appeal	110		
Jennifer Jones	\$600 /	10	Fact Depos	200	Hours:	364.92
(Attorney)	hour	11	Contested			
(		1	Discovery	25	Amount:	\$218,952
		12	Written		7.1110 41111	<b>7</b> 0,55
			Discovery	3.84		
		13	Doc Review	78.17		
		14	Motion to	, 0.17		
			Dismiss (CA)	25		
		15	Class Cert	23		
		13	Motion	0		
		16	Draft FAC (CA)	3.43		
		16 19	Misc Case	3.43		
		1,9		20.40		
			Management	29.48		

Paul Levin (Attorney)	\$300 /	10	Fact Depos	5.2	Hours:	84.8
, , , , ,	hour	11	Contested			
			Discovery	21.1	Amount:	\$25,440
		12	Written			
			Discovery	9.8		
		14	Motion to			
			Dismiss (CA)	4		
		15	Class Cert			
			Motion	4.6		
		18	Mediation /			
			Settlement	0		
		19	Misc Case			
			Management	40.1		
		20				
			Expert Reports	0		
		22	Daubert			
			Motions	0		
		23	MSJ	0		
Lauren Gibbs	\$300 /	11	Contested			
(Attorney)	hour		Discovery	0	Hours:	16.5
		12	Written			
			Discovery	2.2	Amount:	\$4,950
		14	Motion to			
			Dismiss (CA)	5		
		19	Misc Case			
			Management	9.3		
Mary Melbar (Senior	\$185/	11	Contested			
Paralegal)	hour		Discovery	13	Hours:	43.1
		14	Motion to			
			Dismiss (CA)	5	Amount:	\$7,974
		15	Class Cert			
			Motion	6		
		17	Second MTD			
			(CA)	2		
		19	Misc Case			
			Management	15.1		
		20				
			Expert Reports	2		
Michelle Pelaez	\$175/	2	Draft Orig.			
(Senior Paralegal)	hour		Complaint	18.2	Hours:	179.4
		5	Arbitration			
			and Transfer			
			Motions	22.8	Amount:	\$31,395
		8	Misc Case			
			Management			
			Before			
			Transfer	12.6		

1	Ĩ	<u></u>	Case		Ī	
		9	Assessment			
			After Transfer	3.8		
		10		9.1		
		10 12	Fact Depos Written	9.1		
		12		7		
		12	Discovery	7		
		13	Doc Review	0		
		14	Motion to	4.4		
		4.5	Dismiss (CA)	11		
		15	Class Cert	6.0		
			Motion	6.9		
		16	Draft FAC (CA)	1.6		
		19	Misc Case			
			Management	58.7		
		26	Written			
			Discovery (FL)	0		
		33	MTD (FL)	0		
		34	Appeal	27.7		
Viviana Vazquez	\$175 /	10	Fact Depos	9.3	Hours:	233.4
(Paralegal)	hour	11	Contested			
			Discovery	10.2	Amount:	\$40,845
		14	Motion to			
			Dismiss (CA)	3		
		15	Class Cert			
			Motion	28.6		
		18	Mediation /			
			Settlement	7.7		
		19	Misc Case			
			Management	41.4		
		20				
			Expert Reports	5.7		
		21	Expert Depos	4.6		
		22	Daubert			
			Motions	3.4		
		23	MSJ	2.5		
		24	Motion to			
		- '	Strike AF	1.4		
		25	Prelim			
			Approval			
			Paperwork	8.4		
		26	Written	<u> </u>		
		-3	Discovery (FL)	29.5		
		27	Fact Depos	25.5		
			(FL)	15.2		
		28	Doc Review	13.2		
		20	(FL)	11.6		
		20	Draft FAC (FL)			
		29	DIAIL FAC (FL)	3		

Case 2:18-cv-07480-JAK-MRW Document 401-1 Filed 09/08/23 Page 21 of 21 Page ID #:13259

		30	Draft SAC	1.5		
		31	Misc Case			
			Mgmt (FL)	9.8		
		32	Contested			
			Discovery (FL)	18.9		
		33	MTD (FL)	12.2		
		34	Appeal	5.5		
Victoria Pantin	\$175 /	10	Fact Depos	38.3	Hours:	97.3
(Paralegal)	hour	11	Contested			
			Discovery	0	Amount:	\$17,028
		13	Doc Review	0.4		
		15	Class Cert			
			Motion	5.5		
		17	Second MTD			
			(CA)	0.8		
		19	Misc Case			
			Management	52.3		

**8536.8** Hours

<u>Total</u>: \$3,935,807